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- INSTRUCTIONS

1. IMMEDIATELY. AFTER THE COMMENCEMENT OF
THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY
UNPRINTED OR TORN OR MISSING PAGES OR
ITEMS, ETC. IF 8O, GET IT REPLACED BY A
COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to
encode and fill in the Roll Number and Test Booklet
Series Code A, B, C or D carefully and without any
omission or dz-screpancy at the appropriate places in
the OMR Answer Sheet. Any omission/discrepancy will
render the OMR Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test Booklet
in the Box provided below. DO NOT write anything else
on the Test Booklet.

'ﬂc

4, This Test Booklet contains 100 items (questions).

Each item is printed both in Hindi and English.
Each item comprises four responses (answers).
You will select the response which you want to
mark on the OMR Answer Sheet. In case you feel that
there is more than one correct response, mark the
response which you consider the best. In any case,
choose ONLY ONE response for each item.

5. If you decide not to attempt a question then darken the

corresponding circle below #.
S No. Response #

IICECECECHE

6. You have to mark all your responses ONLY on the
separate OMR Answer Sheet provided. See directions
in the OMR Answer Sheet. Use only BLUE/BLACK Ball
Point Pen to answer in OMR Answer Sheet.

7. All questions are compulsory. Each question carries
one mark. For each wrong Answer, one fourth (0.25)
mark shall be deducted.

8. Before you proceed to mark in the OMR Answer Sheet
the response to various items in the Test Booklet, you
have to fillin some particulars in the OMR Answer Sheet
as per instructions mentioned on the OMR Answer
Sheet.

9. After you have completed filling in all your responses
on the OMR Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only
the OMR Answer Sheet. You are permitted to take
away with you the Test Booklet, along with candidate
copy of OMR Answer Sheet.

10. Sheets for rough work are appended in the Test Booklet
at the end.

U9l & STJEIG | IehaT SEqeear i [Eeifa |, ST G&hiuT &1 §1 SIdH FT=7 SATET |

In case of any ambiguity in translation of any question, English version shall be treated as final.
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Read the statements and select the correct answer from the given options:

Statement - 1 : Manganese is an important raw material for smelting of iron ore and also used for
manufacturing ferro alloys.

Statement - I : Manganese deposits are found in almost all geological formations, however, it is
mainly associated with Dharwar system. "

(A) Statement - I is True, Statement - Il 1s False

(B) Statement - | is False, Statement - II is True

(C) Both Statements are True and Statement - Il provides explanation to Statement - |

(D) Both Statements are True and Statement - II does not provide explanation to Statement - |

s
i

3 S isaeresee
i __
S =

2] i

Which of the ﬁ:}llﬂwing statements are correct about Eastern and Western Ghats?
. Anaimudi is the highest peak in the Eastern ghats. .
2. Western Ghats are cnmparatwelv lower in elevation and less continuous th;an Eastern Ghats.
3. Most of the Peninsular rivers have their origin in the Western ghats.”

4. The Eastern and the Western ghats meet each other at the Nllglrl hills.
Select the correct answer using the code below:
(A) only | and 2 (B) only 3 and 4 (C) {:}nly A 2 and 3 (D) only 2, 3 and 4

Which of the following statement/statements are cﬂrrect abnul a dlsaster whlch struck Uttarakhand’s
Chamoli district in February 20217 . 4

. A portion of the Gangotri glacier broke c:rf’Fa,;ld caused havoc.

2. There was sudden flood in the middle Df the day in thE: D]‘IEILIII Ganga Rishi Ganga and Alaknanda

rivers. 5

3. Tapovan-Vishnugad Hydel Project and the Rishi Gallga Hydel Project were extensively damaged.
Select the correct answer using the code belﬂw
(A) Only | (B) Only 1 and 2 C“) Onl}f 2 and 3 (D) 1,2 and 3

Read the given statements and Se[éi:ﬁi the correct aﬂswer from the options given:

Statement - | :  Sikkim Himalayas are famous for Karewa formations, which are useful for the
r.:ultwatmn of Zafran

Statement - 11 :  Karewas are tlnck dﬁp0§1t5 of glacial clay and other materials embedded with
mogaihes o 4

(A) Statement -1 is True, Statement lI is False

(B) Statement - [is False, Statement - 11 is True

(C) Both Statements are True and Statement - II provides explanation to Statement - |

(D) Both Statements are True and Statement - Il does not provide explanation to Statement - |

Which of the following characteristics are correct about waves?

I.  Wind causes waves to travel in the ocean.

2. The actual motion of water beneath the wave is not circular.

3. Steep waves are not fairly young ones and are probably formed by local winds.

4. The highest and lowest points of a wave are called the crest and trough respectively.
Select the correct answer using the code below:

(A) land 2 (B) 2 and3 (C) 3 and 4 (D) 1 and4
Match the climatic regions of India according to Koeppen’s scheme.
- Column 1 Column 11
""" - Types of Climate Areas
1. BWhw A. Arunachal Pradesh
. 4 Dfc B. West Coast of India south of Goa
3. Amw C. Extreme Western Rajasthan
4. As D. Coromandel coast of Tamil Nadu
(A) 1-A, 2-B, 3-C, 4-D (B) 1-C, 2-D, 3-A, 4-B
(C) 1-C, 2-A, 3-B. 4-D (D) 1-A, 2-C, 3-B. 4-D
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Which of the following statement/statements is/are correct about Bharatmala Pariyojna?
. It envisages replacement of level crossing on national highways by road over briges/road under
bridges.
2. It aims to develop the road connectivity to border areas.
3. It aims at development of coastal roads including road connectivity for non major ports.
4. It aims at the |mprnvement in the efficiency of national corridors.
Select the correct answer using the code below:
(A) I.2and3 only (B) 2.3and4only (C) 1,2and 4only (D) 1,2, 3 and 4

Match the name of the Dams in Column - I with the river in Column - 11.

Column - 1 Column - 11 A0S
1. Sardar Sarovar A. Mahanadi v [
2. Mettur B. Chambal |
3. Hirakud C. Kaveri o
4. Gandhi Sagar D. Narmada e o
(A) 1-D, 2-B, 3-C, 4-A (B) 162D, 3-A, 4-B
(C) 1-B, 2-D, 3-A, 4-C (D) 1-b, 2-C, 3-A. 4B

Which of the following statement/statements |sfare cﬁrrecl about Pradhan Mantri Krishi Sinchayee
Yojana? )

I. It was launched to achieve convergence of nwastment in lrngatmn at the field level.

2. Expand cultivable area under assured irrigation .

3. Improve farm water use efficiency

4. Introduce sustainable water conservation practlces
Select the correct answer using the code below:
(A) onlyl,2and3 (B) onlyl, 2and 4 (C) -isz-.v;::nly 2.3and4 (D) 1.2,3 and 4

Match the name of the state given in Column - I with the phrase given in Column - II.

Column - 1 . Column - 18
1. Assam A Abode of Clouds
2. Meghalaya - B. Land of Red River and Blue Hills
3. Uttarakhand ~ C. God's Own Country
4. Kerala ~ D: Land of the Gods
(A) 1-B, 2-A, 3 D, 4-C (B) I-C, 2-D, 3-A, 4-B
(C) 1-B, 2-D A 4-C _f_j (D) 1-D, 2-C, 3-B, 4-A
Read the gwen statements and select the correct answer from the npt:mns given:
Statement-1  : The paﬁem of movement of planetary winds is called general circulation of the
atmosphere.

Statement - 11 :  The general circulation of the atmosphere sets in motion the ocean water circulation
_“which influences the earth's climate.

(A) Statement - | is True, Statement - II is False

(B) Statement -1 is False, Statement - Il is True

(C) Both Statements are True and Statement - [I provides explanation to Statement - |
(D) Both Statements are True and Statement - II does not provide explanation to Statement - |

Which of the following statement/statements is/are correct about the movement of the Indian plate?
L The Indian plate includes Peninsular India and the Australian continental pr::rtmns

2. The subduction zone along the Himalayas forms the southern plate boundary in the form of
- continent- continent convergence

- 3 In the east, 1t extends through Rakinyoma Mountains of Myanmar towards the island arc along the

Java Trench.
4. The Western margin follows Kirthar Mountain of Pakistan.
Select the correct answer using the code below:
(A) Onlyl.2and3 (B) Only2,3and4 (C) Onlyl,3and4 (D) Onlyl, 2 and 4
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SUCECEIGI A . w

D. wi®s™ &<, 2001/2004 IV. "
A QU U faedi H 9 WEl 39X @&l 999 Hihg -
(A) A-lll, B-1I, C-1V, D-I (B) Ml B 1, C-IV, D-I
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(C) A-3, B4, C-2, D-] (D) A-1, B-2, C-3, D-4
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Which of the following statement/statements are correct about Laterite soils?

I.  These soils develop in the areas with high temperature and low rainfall.

2. These soils are rich in organic matter, nitrogen, phosphate and calcium.

3. These soils are widely cut as bricks for use in house construction.

4. These soils have mainly developed in the higher areas of the peninsular plateau.
Select the correct answer using the code below:

(A) 1 and 2 (B) 3 and 4 (C) 1,2 and3 (D) 2,3 and 44
Match List I with List II =V
List 1 List 11
A. Basel Convention, 1989/1992 [. Persistent Organic Pollutant .~
B. Rotterdam Convention, 1998/2004 [I. Control of Transbﬂundar}’ Mﬂvements of
Hazardous Waste and their disposal
C. Minamata Convention, 2013/2017 [1I. Facilitate informed decision making

by countries with regard to trade
in. Hazardous Chemicals

D. Stockholm Convention, 2001/2004 IV. Mercury
Choose the correct answer from the options given below: £
(A) A-lll, B-11, C-1V, D-l (B) « A-Il, B-IIl; C- IV D—l
(C) A, B-II, C-1, D-IV (D) A-[I B-1. CvIV D-11

According to Census of India, 2011, the languages of Indla are clasmf“ed into 5 distinct families, namely,
the Indo-European, the Dravidian, the Austro-Asiatic, the Tibeto-Burman and the Semito-Hamitic. Large
number of speakers of these ]anguages are iﬂund in certain states. Hence match List I with List 1I :

LIST I (Language family) " LIST II (States / UTs)
A. The Indo-European L. Andhra Pradesh, Tamil Nadu, Karnataka
B. The Dravidian E[] Assam, Manipur, Nagaland
C. The Austro-Asiatic [1I. Uttar Pradesh, Maharashtra, Bihar
D. The Tibeto-Burman . [V. Jharkhand, Odisha, Meghalaya
(A) A-l, B-I, C-IV, D- ~ (B) Al B-IV, C-1, D-III
(C) A-L B-IIL, C-II, DIV~ (D) A-1V, B-III, C-II, D-I
Match the crop with the State that is its leading producer.
Crops - Leading producer
A. Jowar 1. Madhya Pradesh
B. Bajra © 2. Maharashtra
C. Rice ¢ - (@ 3. Rajasthan
D. Gramgy, " 4. West Bengal
Choose the correct answer from the options given below:
(A) A-4,B-2,C-1,D-3 (B) A-2, B-3, C4, D-1
(C) A-3, B4, C2, D™ (D) A-1, B-2, C-3, D4

The correct order n::ﬂ‘“ iridlan states in terms of population size (2011 Census) is (from highest to lowest
population) .

(A) Uttar Pradesh Bihar Maharashtra, West Bengal

(B) Uttar Pradesh, West Bengal, Maharashtra, Bihar

(C) Uttar Pradesh, Maharashtra, West Bengal, Bihar

(D) Uttar Pradesh, Maharashtra, Bihar, West Bengal

Match tT]E: Nat_mnal Park with the State in which 1t 1s located.

 National Park State
r A_, Balphakram . Telangana
- B. Mahavir HarinaVanasthali 2.  Assam
- C. Namdapha 3. Meghalaya
D. Nameri 4.  Arunachal Pradesh
Choose the correct answer from the options given below:
(A) A-4, B-2, C-1, D-3 (B) A-3. B-1, C-4, D-2
(C) A-3, B4, C-2, D-1 (D) A-1, B-2, C-3, D-4
Page - 7
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= ® & B €l Al ! GEEH Aedl b WY ¥l ®Y § gHid € 7

A. HET : ST, YW, HIATHT B. T : T, A, TS
C. THAT : &, d9qd1, I D. redl : prfar, HHT, 2HEr
a9 feu o fadet ¥ @ 98 IO & 999 DI
(A) %@ A, B, C (B) %ad A, B, D
(C) @@ B, C, D (D) wada A, C, D
& M3 ARl B Was H G99 Wl § 999 B0 & %9 ¥ gaiyd & U el HH FG1 § 7
(A) HEM&l, HaT, METEd, HI (B) TiETEdl, %1, WEar, ardr
(C) e, WerdY, Merady, Hwn (D) MerEd, sHaT, I, "ErEeE
qIRA Biel st (1942) % ded &, fre & § &9 & S o e @ 27 & D
a. T WEdl - T Eh qER b. &2 AW - wds WEY GG gl
c. fag uvs - #egy el d. el B - g R X EEe
| o, 4
(A) a @b (B) bafitc (C) edltd (D) aafRd
mﬁw%ﬁﬁwﬁﬁw%ﬁﬂaﬁﬁﬁwaﬂﬁwﬁmﬂﬁﬁq
a. WAl 9Reg i e o B
b. @RI & Hebal i, dTerEd
C. hHAMITH & ATIH TN i, WYL ﬁmsﬁr
d. 99 999 & uyad gUq Y v, ST

(A) a-iv, b-i, c-1i1, d-11 (B) a-i, b-iv, c-iii, d-ii (C) a=iv, b-i, {:;f"'u d-ii1 (D) a-i, b-iv, c-1, d-iii

%%ﬁmﬁﬁﬁ@ﬁ%wﬁﬁwm

a. WEISRM ShLIdl i, [eTE
b. HIaH fued u  faw b N
c. ¥ e Y TIA m R

(A) a-iv, b-iii, c-i, d-ii (B) ..;._.:a-iq_ b-iii,, c-tl d-iv (C) a-ii, b-iii, c-1, d-iv (D)  a-ii, b-iii, c-iv, d-i

— g gewr e [ H fd & g2 &Y @ ud diedes sifterd o werer frerar 21 g % sdEl @ gy
aﬂﬁﬁmn%wﬁnwf%ﬁ[ﬁ SehlviiEd gel, st & @y e & Scdd, gofd W, e, g, gud
gfder, 9 ==, a1e, i Hie U fasie), awifae ) Icen ¥ A0 O § el @ sttt arlt o, S 6
TSI &% He™ bl AT Bl AT | HTaIHS UIaT & U Uk G & § s1Hhid B Uk Wb bl Gl ¥ urdl
Tar ol 9, S b Rd Ud uifetar & dedl % 9 e, 36% 939 A & Uiie gewWl & ¥ E an
Bl GHTEHT Bl TE giad Hdl & —
qe HUT ARG H B Y TSN WA BT Ao @ 7
(A) amnae, eEem . (B) s, g (C)  enemtTge, gt (D) Tdn, sfamn

wmﬁ?%aﬁﬁﬁmﬁﬁaﬁ?@rfﬁmeﬁ%?

2. 9% Wl Usdyr § getud o

b. 9 gawhidA fadia & &1T Tar arl

c. 99, HYY Ud AT farehy S€eh O & UiHE @s ¥|

d. 9 % @i 99 s e — wa, faehfer & arms

\) a baTc (B) a, baixd (C) b,camrd (D) a,cafTd

P df Pt @) PIATghIdD A (3 UrEH F a9 HId) H FaRYd By
. A, Al &0 Hgls % el |ieT @1 gAtierer b, gEy A fage Hiew

c. UzEHW ¥ HiE @ wE d. gefesay |y — demegy
(A) a,b,c d (B) ¢, d b, a (C) ¢, b,.d, a (D) a,b,d,c
Page - 8
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Which of the following river(s) i1s/are correctly matched with its/their tributaries?

A. Krishna: Tungabhadra, Ghataprabha, Malprabha

B. Ganga: Gomti, Kosi, Gandak

C. Yamuna: Ken, Betwa, Chambal

D. Cauvery: Kabini, Bhima, Hemavati
Choose the correct answer from the options given below: e
(A) A, B, C only (B) A, B, D only (C) B, C, D only (D) A, C,D only |

The correct order of the given rivers when arranged by length from longest to shortest is: __
(A) Mahanadi, Narmada, Godavari, Krishna (B) Godavari, Krishna, Mahanadi, Tapi
(C) Narmada, Mahanadi, Godavari, Krishna (D) Godavari, Narmada. Krlshna Mahanadl

In the context of the Quit India Movement (1942), which pair/s mentioned below |5fare mﬁiched properly?
a. Usha Mehta - Clandestine Radio broadcast
b. K T Bhashyam - Running independent local government =~
¢. Chitu Pandey - Labour unrest
d. Matangini Hazra - Attack on police station

Options: |
(A) aandb (B) bandc (€) ¢ ancl d ) (D) aandd
Match the following details about Shah Jahan’s cmlstructmn activities:

a. Moti Masjid @ T Lahore |~

b. Jahangir’s Mausoleum 1. Taj Mahal

¢. Extensive use of calligraphy B Y iii. Péﬁi’.’iﬂck Throne

d. first commissioned after becoming emperor iv. . Agra

(A) a-1v, b-i, c-1ii, d-11 (B)  a-1, b-1v, ¢-11i, d-n (C) a- w b-1, ¢c-11, d-in (D) a-1, b-1v, ¢-11, d-111

Match the information given below w1th respectwe Suﬁ Saints:

a. Bahauddin Zakariya . Gulbarga

b. Muinuddin Chishti . . ii. Delht

c. Bande Nawz Gesu Garaz. iii. A_]mer '

d.  Nasiruddin Chirag iv. Founder, Suhrawardiyya Order

(A) a-1v, b-111, c-1, d-11 (B) a~| b 1, cmdw (C) a-u, b-, c-1, d-1v (D)  a-11, b-111, c-1v, d-1

--- gives evidence of a Eiﬂl’iﬁﬁd settlemﬁmt and mud-brick structure in early Harappan period 1. The range
of pottery types was similar to that of Kalibangan. Artefacts included uninscribed seals, pottery with
graﬁ"tt terracotta whe&ks cars,wraﬁiea ‘and bull figurines, che:rt b]ades wmghts a bone point, and a
l1u5bandry A stacked set of hﬁpscntches was found in an open area behind the structural EDH’I[}]EK This
suggests the possibility that a game similar to pithu, which is popular among children in India and
Pakistan, goes back to ear]y Harappan times!" - this statement is a description of which Harappan site
in India?

(A) Banawali, lla;r}ana (B) Dholavira, Gujarat

(C) Alamgirpur, Ma (D) Rakhigarhi, Haryana

Which of the ﬁ)l]mwmg statements about King Harshavardhana are correct?
a. He belonged to the Maukhari dynasty
b. He was defeated by Pulakesin II
¢. Ban, Mayura and Matanga Divakara were the famous writers at his court

d. Harsha himself wrote three plays - Ratnavali, Priyadarshika and Nagamanjari
(A)_ &, b and C (B) a, bandd (C) b, ¢c and d (D) a,candd

___Arrange the following temple constructions in chronological order (from most ancient to the recent
times):

. a. Rebuilding of Madurai Meenakshi temple by the Nayaks

~b. Vitthala Temple at Hampi

¢. Group of temples at Pattadakal
d. Brihadishvara Temple, Tanjavur
(A) a,b,cd (B) ¢ d, b a (C) ¢,b,d a (D) a, b, d,c

Page - 9
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gdi-1 %1 e gia-11 & |y sifag

T -1 T - 11
A. ET@ME . dX&®
B. dieehiiuad 2. ¥ |/
C. gy 3. TEA HeEedl
D. |1 Ug dal 4. afae um
9 f§u T BIE H ITEET HLh Tl S g
(A) A-3, B-4, C-1, D-2 (B) A-3, B-1, C-2, D-4
(C) A-I, B-3, C-2, D4 (D) A-2. B-1, C-4, D-3
A | U S are ol @ Frefelag feel o faum e
i, - ulyEw S . dEgd — 7E ey . B
iii. gL — NEE] iv. STEHEl — HeT{Ts
Sqgad § | &9 @1 el fae # 7 s H Y
(A) ad i o ii (B) e ii alitiii (C) ao—cm 1 a?rm (D) e iii 3T iv
A g e feg Ty ®

FH - 1 : Uog-1 9@ F \9fs @i, gmmﬁwww%m?ﬂaﬁl
Fa - 11 : Ters-1 9 & 3 aﬁﬁmﬁﬁ%mﬁﬂﬁmqﬁ?aﬁWI

(A) &Y -1 TF HYF - 11 3 T ¥ B) ®u -1 TH B - uﬁa’r‘m%
(C) wu-18d & 9ty &I - 11 @ &) (D) YT -1 3@ & 9 HUA - 1 6 B
Wwﬁw%ﬁmﬂﬁwwmwwm%ﬁ
Aﬁwgﬂmaﬁﬁwi B. g2 - o1 - GHIEH - HIoETT

C. oI - J&lEH - §aa - Beerk D E@ET{ BISTAT - 39 - JHEH
e fou o famedl § ¥ GE SO &1 g9 iy
(A) whad A (B) aw B ; ( ) arcra C (D) waa D
-1 &1 e gra-11 & gy sy

-1 -

A. 2 e g Wi

B. 7g fqal L wUEs) e

C a_d ﬁg _- _== l“ ﬂ'ﬁﬂﬂg—t{—wm

D. dgdx  IV. ume oo
%ﬁqwﬁmﬁ{ﬁﬁﬁdm BT G- DIMAT :
(A) A-LB-IENI, DIV (B) A-lll, B-I, C-1V, D-II
(C) A- IV B-ll C-1, D- I[I (D) A-Il, B-lIl, C-I, D-1V

a. mar—aﬁm&wmgaﬁmmqqmaﬁn%l
b. sﬁﬁnﬁugﬁ‘fg@:rw e TaTEl, B Ug e g

Downloaded from www.cclchapter.com

(A) Faaa (B) et b (C) a X b 3l (D) adiTb¥ & &3 7
g1 & e gfa-11 & |y s
-1 = - 10
A. femmere [.  wga
B | [l urerfasn
. fﬁm—m%m 1. @ish
. D. ARgd V. fiear
e f§u U faswedl § ¥ WEl SOC & 999 S
(A) A-Il, B-1, C-1V, D-III (B)  A-Ill, B-I, C-lI, D-1V
(C)  A-1V, B-1, C-II, D-III (D) A-ll, B-III, C-I, D-IV
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Match List - I and List - 11
List - 1 List - 11
A. Arikamedu Patrons
B. Tolkappivam Measure of land
C. Vallals 'Roman Factory'
D. Ma and Veli Tamil grammar
Select the correct answer using the code given below : '

-l el

(A) A-3, B4, C-1, D2 (B) A-3, B-1, C-2, D4 e |
(C) A-1, B-3, C-2, D4 (D) A-2, B-1, C-4, D-3
Consider the following varieties of Mangoes found in India: £l =P

1. Chausa - West Bengal 1. Totapuri - Madhya Pradesh v |

ii. Kesar - Gujarat iv. Alphonso - Maharashtra

!""’

Which of the above is correctly matched? 40
(A) 1and 11 only (B) i and 1ii only (C) iandivonly (D) iii and iv only

Given below are two statements: . |

Statement - 1 : Rajendra-1 Chola introduced Mahga: Kr:ﬂ a 5tz1nd&rd|zed measuring unit.
Statement - 11 : Rajendra-l Chola's son Arumolivarman built the famous Brihadeshwara Temple
In the light of the above statements, choose the most appropriate answer from the options given below
(A) Both Statement - [ and Statement - I are correct

(B) Both Statement - [ and Statement - II are incorrect

(C) Statement -1 is correct but Statement - II is incorrect

(D) Statement - I 1s incorrect but Statament I is cnrrec:t

Choose the correct hierarchy from the htghfst to the IE}WES‘[ level in Mughal India
A. Faujdar - Subadar - Amin - Mugaddam ‘B. Subadar — Amin — Mugaddam - Faujdar
C. Amin — Mugaddam — Subadar - Faujdar - D. Subadar — Faujdar — Amin - Mugaddam
Choose the correct answer from the Dptmns gwen below:

(A) A Only (B) B G’n]y (C) C Only (D) D Only
Match List - [ with LISt lf V. i
List - I - List- 11

A. Tipu Shah . l - Benaras Rebellion

B. Dudu Mian "Il Faraizi Movement

C. Chait Singh = [1I. Tarigah-i-Muhammadiya

D. Titu Mir - IV. Pagal Panthi
Choose the cﬂrrect answer ﬁ'mn the options given below:
(A) A-L B-IL, C-III, DIV (B) A-IIl, B-1, C-1V, D-II
(C) A-1V, B-11, C-l, D—-lll (D) A-IlL, B-IIl, C-I, D-IV

a. Manjusha Art is an art form of Angadesh, present day Bhagalpur.
b. The main cn]nurs used in this art furm are Pink, Green and Yellow only
Which of the above statement/ statements are correct

(A) Onlya - (B) Only b (C) Bothaandb (D) Neither a nor b
Match List - I with List - 11
~ List-1I List - 11
A. Kilakot .  Madhubani
~ B. Kohbar [I. Patachitra
~ C. Thia-badia I1I. Sanjhi
" D. Morakuti IV. Picchvai
Choose the correct answer from the options given below:
(A) A-ll, B-I, C-1V, D-III (B) A-lIl, B-1, C-IlI, D-IV
(C) A-1V, B-1. C-II, D-III (D) A-IL B-IIL, C-I, D-IV
Page - 11
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HILAT TS hild & 3ege] & &9 W U ¥ s 91¢ 941 & arel «dr &
A. GGENI TSI

C. gEHE As

E. 9t fafwoaw dswEd
g f§u U fgshedl § € WE SA¢ &1 99 hifag ¢
(A) Fad A, B @ D
%ad A, B, C. D

(C)

d.

b. Wrmﬁm%%ﬁﬁmﬁﬁﬁ—mﬂﬁmmﬁ@#maﬁﬁé@ﬁﬁﬁmﬁzﬁmﬁl

B. ssq. @ s el
D. TEHdewe TH. §aH!

(B) dhad A, B, C 3T E
(D) S g

HETUST (omed 68 soefatmr ¢ e ¥ o 9

SUUad H 9 s a1 | G faum wer & | € 7

(A) ead a (B) ®ad b (C) a afiT b g (D)
Wmﬁﬂﬁﬁﬂaﬂaﬁmﬁﬁﬁmsﬂuwﬁﬂﬁwﬁaﬂﬁﬁﬁﬂﬁ?
A. HEH FAHEATT B. Tigred

C. ZEEATIT D. s HeRdl

E. HERREaT

4 feu U fasedl W § €& 9OC @ 999 BT . .2
(A) @&ad A, B, D (B)

¥aw D, C, E -'{@)' e A, C.E (D)

l%&mﬁrﬁwﬁmaﬁ@ﬁ%ﬁﬁwﬁﬁﬂmwﬂﬂm%ﬁ?
lSﬁI%ﬁaﬁﬁwﬁqﬁlﬁquwHunﬁmWﬂTWW|
B. gdhd % UM A N HUE SARA ¥ ¥Rl .

1862 T fsre ® 90% HuTd 1 AT WL | A

D. ®urg Samed § far 3 agart @ e al @ e a9
ISTSWWWWW%WWH%WWI

T fam T faeedt & @ @8 SO @ 99w St

(A) %ad A, B, C (B)

A.
L.

B.

- fﬁmﬁﬁaﬁrﬁ&rﬁweﬁﬁ%a%ﬁm—

Haw A, CdRD (C) Haa A, B, D (D)

o -1
. gwhd - I
1. TR s
. ==a - I
IV. g

%&qwﬁmﬁﬁﬁﬁﬁm b A A

(€)

A-II,

(A) A-Il, B-l, C-IV D-II

(B)  A-IV, B-I, C-III, D-II
(D) A-L B-III. C-II. D-IV

gar - I ﬁfﬂﬂﬁﬁé%ﬁmﬂﬂﬁr II: safoae &1 e s

(A)
(€)

B ™

. A feu U fgeeal § € G 99 &1 999 hify

A-111,
A-I1,

T - 11
[.  ESeM Rawsil
1. =T 2T °5d
[1l. smesTel
V. &=t @Kl

B-1V, C-II, D-I
B-1I1, C-I, D-IV

(B) A-IL, B-IIl, C-1V, D-I
(D)  A-l, B-III, C-II, D-IV
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Leaders who served more than once as the President of Indian National Congress

A. Surendranath Banerjee

C. Dadabhai Naoroji

E. Sir William Wedderburn
Choose the correct answer from the options given below:
(A) A, B and D only (B) A, B, C and E only
(C) A, B, C,Donly (D) All of the above

B. W.C Banerjee
D. Rahimtullah M. Sayani

a. Maharaja Ranjit Singh came from Karorasinghia Mai Misl.

b. Jean-Francois Allard and Jean Baptiste Ventura were the two Nepoleonic E,éﬁerais in service of

Maharaja Ranjit Singh.
Which of the above statement/ statements are correct ?

(A) Only a (B) Only b

A. Kara:kdl Ammaiyar B. G{}dadew
C. Isaignaaniyar D. Akka Mahadevi
E. Mangayarkkarasiyar i

Choose the correct answer from the options given belﬂw

(A) AB.Donly (B) D.C Eonly €) A, C'Ennly (D)

3‘

Which statement(s) is/are correct ab{mg:_=5_tileg£ﬂttun E!an{a{;;nn in India in the 19" century?

A. American Civil War of 1861 impacted Cotton pmductiﬂn in India

B. Cotton production boomed in Deccan cﬂuntrjfmde
C. By 1862, 90% of cotton import to Britain came from India

D. Expansion in cotton prﬂductmn made ryots richer than the sahukars

E. The Deccan Riot of 1875 was the reactmn of sahukars against the rich ryots

Choose the correct answer from the options given below:
(A) A, B, C Only

Match List I: lnscrlptmn w1th Llst T[ ngs

List-1 List - II
A. Sanchi Copper Plate Inscription [.  Pulkeshin - 1l
B. Aihole Inscription I[I. Mihir Bhoja
C. Allahabad Pillar [ﬂsc‘riptlnn [1l. Chandragupta - II
D. Barah Copper Plate Inscription [V. Samudragupta
Choose the correct answer from the options given below:
(A) A-lll, B-1, LTV D-II (B) A-1V, B-1, C-1I1, D-II
(C) A-ll, B- IV, C-1, D-II (D) A-lL B-IIl, C-II, D-1V
Match Llst___, L: Land / Taxation Units with List - II: Personalities
List- I List - 11
A. Dahsala System [.  Alauddin Khilji
. B. Bigha-i-Daftari [I. Raja Todar Mal
ﬁ C Biswa [1I. Shahjahan
- D. Guz/Gaz V. Sikandar Lodi

Choose the correct answer from the options given below:
(A) A-III, B-1V, C-11, D-I (B) A-II, B-III, C-IV, D-I
(C) A-Il, B-ll, C-1, D-IV (D) A-l, B-II, C-11, D-1V

Page - 13
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-1 &1 faam gfa-11 & @19 sif

Tl - 1 T - 11
A. HET A U9 . 39 Uayl
B. @i . =
C. I 1. effesm
D. = fasmesan V. o
A U U fgeedi § @ WEl IO & 999 Hig |
(A) A-Il, B-1, C-1V, D-lII (B) A-lll, B-Il, C-I, D-1V
(C) A-IV, B-IlI, C-1, D-II (D) A-L, B-1V, C-II, D-111
gal - |: Tl &1 sarsal & AW & Wy g - [ 96 &1 Haw S u
- 1 @-a  ®L
A. 9999 [. &A
B. H®E I gdr
C. YreEdrm II. HaHd
D. ®iz IV. 9dr e e e
A feu o fasedl § O G IO &1 999 difeig ‘s
(A) AL B-IV, C-I, D-1I (B)  A-IV, B-HI, C-II; D-]
(C)  A-1V, B-III, C-1, D-II (D) AL, B-1V, CII, D-I

A sfae o Frafafeg geamet ot faam #ifqg @
L. wﬁrﬁﬁm{ﬁal)ﬁ;aﬁﬁamﬁmm
5 i c H?na%”r

3. Ui @i et e Teesr

4, yide - | &0 I GA1 Bl A

Wmﬁwqﬁmﬁmwﬁwmaﬁwﬁmmm%?
(A) 2-1-4-3 (B) 3-1-4-2 (©) 23-14 (D) 3-4-1-2

ﬂﬂﬁﬂwméﬁwﬁﬁ ﬁmﬁﬂﬁaamaﬂmﬁwa%ﬁq
. fodg e A9 we 0 2. TvEd

3. ve U 4 SO B9 B gy
el dhictshich A (Yeehl K EIE?JTFI ah) &
@ 4,3 1.2 Y4B 3§21 C) 1,3,2, 4 (D) 1.2.3,4
—%ﬁﬁ‘iﬂiﬁﬂé[ aﬁ‘f aﬁi“qgraﬁ%
(A) dfem (B?) BT (C) gifrsmelr seiieR (D) sHeEs/amd
g WRd ¥ ‘e’ Wﬁfi@m oqr 7
(A) qui‘ﬁmmmg (B) oM U d@ Sy
(C) oraist &1 @d (D) a3 =9I8i & &1 g3 JAARIE G Bl 3hIg
q= & 9L o ﬁiﬂ‘fm HYHl 9T faame sifg
| A %eE |

2. A pseudomycelium T Gl & |

3 '&I’EW(&'&E’T)WWW%HﬂﬂﬂﬂHHI%I
4, e foedr s (Seaefea sRe) & |
N

6

g9 e feedr (SaHiths) € |
gy I e (Yesifes) &

e Bl & B w7

(A) 1,2,3.4 (B 1,2,3,0 (C) 3.4,5,6 (D) 2,3,4,5
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Match List - I with List - 11

List - 1 List - 11

A. Mata ni pachedi I. Uttar Pradesh

B. Sanjhi lI. Gujarat

C. Phad III. Odisha

D. Saura Paintings [V. Rajasthan
Choose the correct answer from the options given below :
(A) A-Il, B-1, C-1V, D-III (B) A-lIl, B-1I, C-I, D-1V
(C) A-1V, B-llI, C-I, D-II (D) A-l, B-1V, C-II, D-III

Match List - I: Name of the Variety Units with List - II: Textile

List - I List - 11
A. Shabnam .  Wool
B. Mashru [I. Cotton
C. Dhabla [1I. Muslin . N
D. Chintz IV. Cotton and Silk mix
Choose the correct answer from the options given belcﬁ# S |
(A) A-III, B-IV, C-1, D-1I (B) A-1V, B-III, C-II, D-I

(C) A-IV, B-Ill, C-1, D-Il (D) A-lL, B-1V, C-1I, D-1

S i

Consider the following events in the l‘lIStm‘} of India :
I. Rise of Pratiharas under King Mihir Bhoja (Bhoja la
2. Establishment of Pallava power under Mahendravarman
3. Pala dynasty founded by Gupal
4, Pstab]:shment of Chola p{}wer by Prﬂntdkﬂ I

(A) 2-1-4-3 (B) 3 1-4-2 " (C)  2-3- 1 -4 (D) 3-4-1-2
With reference to the Indian Freedom Stmgg]e consider the following events :-

1. Second Round Table Conference 2. Dandi March

3. Rowlatt Act. 4. Death of Jatin Das
The correct DhFDHDIﬂgIEEl sequence is (from earliest to recent)
(A) 4312 (B} 342] <G 1,3,2. 4 (D) 1.2, 3.4
In the later vedic pEl‘lGd l:lle term "Bali" denoted
(A) Sacrifice (B) Tax

(C) Powerful landlords (D) Revenue

"AshtaPada;__'__ in:.:-an:..":&ient India referred to
(A) A marriage ritual (B) An Asura with eight legs

(C) Game of chess (D) Cavalry unit comprising of eight horses

_.~L0n51der the following statements about Yeast :

Yeast are fungi. 2.  Yeast can form pseudomycelium.
3;5.-" Yeast reproduce asexually by budding. 4. Yeasts are facultative anaerobes.
5. All Yeasts are dimorphic. 6. All Yeasts are pathogenic.
Which of the above are correct ?
(A) 1.2,3, 4 (B) 1,2,3.6 (C) 3.4,5,6 (D) 2,3,4,5
Page - 15
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hIITAATEY Us uihar & T sNd 9edl &l 39d 99 &1 YRS o ¥ e widl & | gl & 9E 9|
TqUT Bithd SATHIBRATT U OGS SAehis &H 9 Bl & | 3 9241 61 999 Sifed S 6 BRIMIT § 8!
Bl ¢ |

(A) FARUTHA ST YHI9T Soll i AT (B) @rde StgeiiadEe & (Ed™ 9 ®aieEse

(C) @®Ed & AFSIE § B SEoaaEs (D) o faureH

U WIS (HUA) Bl Tee & b I Aaara 319] @ siftded o oiga-aqal &3 & |3Hfﬁmaa?rga31ﬁ%5ﬁmwﬁ
TR LT ATl AT & | &N &1 {ad 99 A & 991 ofid &1 & 998 B & | 3% Sifas f31g] &1 o ﬂiﬁﬁw

. grdar AdrB ii. AT BarOar AB e

iii. Az BarAB iv. e AB
(A) e i (B) had i (C) e i (D) %ad iv
= el O e s |

i, ﬁ%ﬁﬁ%m%mﬁ?mwwmﬁwﬂﬁm%l

i. éﬁﬁﬁtﬁﬁﬁm%m%ﬁwﬁmﬁﬂﬁiﬁrwﬁmﬁﬁm%l

iii. aiid e (DNA &t RNA) § gz & |
a@%?ﬁa%mﬁrm%ﬁﬁﬁmarg%waﬁmﬁmmwm@m%ﬁm@ﬁém%l

v. Hd f§E (root legumeq)ﬁﬂﬁﬂﬁﬂﬁrﬁm?wﬁﬂmﬂﬁﬁﬁsﬁ%l :

el HUF HI g9 difod

(A) i, ii, iii @ v (B) i, iii v ;(Q) lii, iv.8fT v (D) i, ii 3T iv
@2k & arf § ffafad suet W ?c“lﬂﬂ aﬁ’lﬁﬁ
i. wEdd A © . e FindY ¥
i, WEdq ®d%F © arsﬁﬁam‘i’ré’r Eﬂam%
Tl YT &l IIT T : . W
(A) iRV (B) ii 3T iv C(©) il @ity (D) i, iv 8T v
A. W B a9 B. HHaxl &1 Sl
3 ﬁlﬁﬁi‘ﬁfmlgﬂﬂl Dm%ﬁgﬁﬂwmmﬁﬁﬂﬁmaﬁﬁm

a2l fereen &1 ghwg

(A) Bcamoﬁmmﬁmvﬁaﬁﬂaﬁqﬁm%u
(B) A, Ba=m C H dhea e aitgds givfad & |
(C) *ad A us “ifvs aiads & |

(D) Bﬁﬁﬁmaﬂrwmﬁasﬁqﬁaéﬂaa%l

Prerfifad § @ @ @ B9 w8 T8 ¥ 7
. ﬁwaﬁnﬁ%ﬁwwmﬁrﬁﬂmﬁm%l

iqﬁmaﬁw@mﬁmeﬁmmmﬁmaﬁ%.
. wifead aiigs & soy faeed 9 fagd gafed & ) aifsay eEgieEEs 39 e 8
,,Ba?rt[) (B) A,C3aRE (C) BaD (D) had E

A
T Qﬂ_ﬂﬁ%ﬁﬁm%wﬁﬁﬂé’rmwgﬁq
A. FET & AU B STl 0 dd & HU b b H Al & |
" B. ®USl %I GEIE & A GG b o § HEd B FHE0 SHehIe dEdrdl ¢ |

. T8w fmior & S 919 & STv[ati @l Wi AN ST @l oY ear # |

. H A H AW ad & & b ged Ca’t ar Mg®' ameel @ A ¥
A, B @it C (B) AaRD (C) BarC (D) B,CgsiTD
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Photosynthesis is a process that helps green plants synthesize their food. A cascade of events and
chemical reactions take place in a specified sequential order. Choose an event that does not take place
in photosynthesis

(A) Absorption of light energy by chlorophyll (B) Reduction of carbon dioxide to carbmhydl ate
(C) Oxidation of carbon to carbon dioxide (D) Splitting of water

A couple suspects a mix up of their new born baby in the hospital. Blood typing is sought to __resglvgtl*lé
dispute. The man has blood group A and the woman has blood group B. Their biological child can have
blood group

1. Either A or B 1. Aor BorOorAB L kT
ii. A or B or AB iv. only AB s Sl
Choose the correct option :
(A) i only (B) ii only (C) iii only (D) iv only

S,

Consider the following statements:-
i.  Nitrification is a process in which nitrates are converted to nitrogen.
ii. Denitrification is a process in which nitrogen is cm:werted Into mtrates
1. Nucleic acids (DNA and RNA) contain ﬂ]tl‘DgE‘ﬂ ' £
iv. During atmuspherlc lightening, mtmg&n in the air gets CD]W’WE& m;-ﬂ oxides of nitrogen.
v. Nitrogen fixing bacteria are present in root Iegumes

e

Choose the correct statement(s) : i 4
(A) i, 1, 111 and v (B) 11, 111 and v (C) i, vand v (D) 1, 1 and 1v
Consider the following statements about Llﬂhens m ")

1. Lichens are algae ii. Lichens are autotrophs

ii. Lichens are fungi - iv. Lichens are symbiotic lifeforms

v. Lichens are saprotrophs -
Choose the correct statements : , U
(A) 1and v (B) 11 and iv “(C). 1, iii and v (D) i1, 1v and v

Following are some processes involving changes of state :
A. Evaporation of water
B. Burning of candle =
C. Dissolution of sugar in water

Select the correct ﬂptmn -

(A) B. C and D involve chemlcaf'change only (B) A, B and C involve physical change only

(C) Only A 15 a physmal Lhangr:: (D) B involves both physical and chemical change

Which of the ﬁ)llmwmg 5tatemﬂnt5 are not correct ?
A. Plaster of Paris is obtained on heating gypsum.
B. Sodium carbonate is an important constituent of baking powder.
C. Bleaching powder can also act as an oxidising agent.
D. Ten water molecules are present in one formulae unit of chemical species of a sample with
common name blue vitriol.
E. Sodium hydrﬂxlde 1s produced by passing electricity through the aqueous solution of sodium

chloride.
(A) A.BandD (B) A, Cand E (C) BandD (D) Only E

Select the correct statements regarding cleansing action of soap.

A Hydrophilic end of soap molecules interact with the oily droplets.

B. The formation of micelles in a soap solution during the cleaning of clothes is called
emulsification.

C The hydrophobic end of the soap molecules is in the inner side during micelle formation.

D. Micelles surround the Ca*" or ng ions in hard water instead of oily droplets.
(A) A,BandC (B) Aand D (C) BandC (D) B,CandD
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(i S 7 e = £

|. drSfiehior Uk dde @l 9iEeHl (BAHEH) €, 39&1 ardd & {6 9dg § &0 919 39wl ¥ 93 oid & |
2. TEGHl U% dwh (91h) M ©, IHB aldd & b 9 & 9id ¥ B 9199 HIWT H §8d o & |
3. &g, g ST &1 59 9 § §5ed & (991 9eT 39 g ¥ yiddd ¢ |

4, Uarel @ TR I 39P I9HE H UiEad &1 & dhad Sedl S gl & |
A

(A) 1,3 &0t 4 (B) 1,2&m13 (C) 1,2 3T 4 (D) 2,334
gl - | &1 e @l - 1 &% |1y #Hifg
T - 1 - 10
. 319 Gifsay FEe 9 Hm] [. shIHIUTE!
2. U9 & Uygisdl & as 9 faf= T [I. smgeas (Distillation) 0
3. UHEE Ud §d g [1I. 3r9%zvr (Centrifugation) s D
4, ﬁ-q -{?f HHgH V. EEE?'ZI'IEH (Sllhlllﬂﬂtl{}n) 4 i
(A) 1-IL, 2-1, 3-1V, 4-11I (B) 1-II, 2-111, 3-1V, 4-I ‘
(C) 1-1V, 2-1, 3-I1, 4-11I (D) 1-1V, 2-I1, 3-1, 4-1

Hﬁ&!ﬂ%ﬂgﬂ?ﬁ143(1}%aﬁwﬁamﬁﬁr=ﬂwmmﬁmwaﬁaﬁmﬂanﬁaﬁﬁmﬁw‘rq'{
gl - Ifﬁrftl?rrl:rﬂ‘cﬁ Il &% |1 Sif

-1 S
A. fewedr fafa sifafm, 1951 | g fagrorfer
B. %yg f§g 1965 . 7o 9

C. 2001 = fasiy € d@&r | . wemEmg fes
D. 2002 @1 fa9i9 da¥ g | V. Wﬁrww

A &g T foshedl § @ ®@el SOX g o o
(A) A-IIL, B-I, C-1V, D-II I (B) AL B-LL C-I1, D-1V
(C)  A-L, B-III, C-1V, D-II = (D) A-IL, B-1, C-III, D-IV

I %GR % obe 54 ud 55 % e g R (70t dee) sfufm, 1992 @ wRd % s
% grd &g 9 H @ B4 hemanidd weol & frarde quew # g fhar wEr & 7

A Redl 3 NCT Qe Bion &
C. qgad D, e
A ey Pl 2 & g

(A) asaaAeﬁTB - (B) a-ﬁlﬁB«SﬁT(, (C) had A 3t C (D) @aw C 3k D

@mﬁmeﬁ%%ﬁﬂﬁmﬁﬁmmmmmaﬁ%/%?

A. 3% @@ ¥ 10 ¥ afus g 8 O 9w uw g ¥ 7 ¥ oifus gew T B

B. &9 & S fous & Uh 9o 56% 9T & ®9 § H Bl § |

C. ¥& g 7w, @ad ud sd-—w@ma el & o 9 =99 29 are aar-—faewor &1 Siig &l & |
D. afify (@) # frare 5 F g we af & et & ad o

A faw o famedi § & g O gho

(A) %as A, BeiRC (B) %ad A, Cair D (C) %aa A, B D (D) %aw B, C &t D

gdtea raTerd & Ue gig <Aty @ Prgfi % e § fre sul o fem dfe) e § @ e d

2 r o

A. I % B G (session) B JAM A1 A1 T % g afk waited e % =awfysit @ e err
&, 99 Ug &d iy &1 Frgfe A o aewd ¥

. HElTg EEd & TS §lh AATHIel hl Fygiad ¥ 9ge W & YT RTHie i g6iud 9e s & ged

| wzi‘rméama fra-—femst & sl At § |

. Hdeg e 6 966 Hid 99d gdied <Iaed % US 8l ~AEIdI9T @l gdred iy o Arareaigr ol
guT grferaar ot fagranféent wra & & |
(A) @&ad A, B3R C (B) dad A 3k B (C) Haa C 3k D (D) whaw A, B3t D
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Which of the following is correct?
1. Evaporation 1s a surface phenomenon. which means particles from the surface change into the
vapour state.
2. Boiling 1s a bulk phenomenon, which means particles from the bulk (whole) of the hquid change
into vapour state.
3. Deposition is the change of gaseous state directly to solid without converting into the liquid state.
4, The state of matter can be changed by changing its temperature only. |
(A) 1,3 and 4 (B) 1,2 and3 (C) 1,2and4 (D) 2,3 and 4
Match List-I with List-II :
List - 1 List - 11
1.  Camphor from solid sodium chloride l. Chmm&tﬂgraphy :'
2. Different pigments from an extract of flower petals [I. Distillation |
3. Acetone and water mixture [lI. Centrifugation
4. Butter from cream [V. Sublimation
(A) 1-I1, 2-1, 3-1V, 4-I11 (B) I1-lI, 2-I1L, 3-1V, 4-1
(C) 1-1V, 2-1, 3-11, 4-II1 (D) 1- W 2-llI 3-Lg-11
Consider the legal issues involved in followings aclwsc}r}f Dp]l]lDﬂ rendered by the Supreme Court of India
under Article 143(1) of the Constitution. L
Match List - I with List-1I : .
List - 1 ~ List-1I '
A. Delhi Laws Act, 1951 L. Legislative Privileges
B. Keshav Singh 1965 I Gujarat Gas
C. Special Reference No. 1 of 2001 =~ 1II. Delegated Legislation
D. Special Reference No. 1 of 2002 V. Gujarat Assembly Election
Choose the correct answer from the Dptmns given. belﬂw
(A) A-III, B-I, C-1V, D-II " (B) A-IIl, B-I, C-II, D-IV
(C) A-l, B-III, C-1V, D-II (DJ CA-llL B-1, C-IH0, D-IV
Wh]{:h of the i‘ﬂl]nwmg Umﬂq_ Terrltﬂnes are | mr;luded in e]ectnral college ﬁ;}t‘ e[ectu}n tn ~office of

of the Constitution of India ? N
A. NCT of Delhi ' B. G_pa .
C. Puducherry W Di Léksﬁ%dweep
Choose the correct answer from the options given below :
(A) Aand B u:m!y . (B) B and C only (C) A and C only (D) C and D only

Which of the fDIlDWII‘tg statements lsfare correct for the Public Accounts Committee ?
A. It comprises of not more than 10 members from the Lok Sabha and not more than 7 members
from the Rajya Sabha.
B. As per convention a member of the opposition acts as its Chairman.
C. It examines the statement of accounts showing the income & expenditure of the state
corporations, autonomous and semi-autonomous bodies.
D. The term of the Committee does not exceed one year at a time.
Choose the correct answer from the options given below :
(A) A.B Eﬂld Conly (B) A,CandDonly (C) A,BandDonly (D) B,C andD only

Consider the tﬂllﬂwu"lg statement regarding the appointment of ad hoc Judge of the Supreme Court.
Which Eﬁ the fﬂlluwmg is/are correct?

~ or continue any session of the Cﬂurt

- B. Chief Justice of India is required to consult the Chief Justice of the concerned High Court before

appmntmg a Judge of the said High Court as Ad hoc Judge of the Supreme Court.

" C. For appointment of ad hoc Judge, prior consent of the President is not mandatory.

D. Ad hoc Judge of the Supreme Court while attending the sittings of the Supreme Court enjoys all
powers and privileges of a Supreme Court Judge.
(A) A.,Band C only (B) A and B only (C) C and D only (D) A, B and D only
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dre & sy 7o o E:

F-1: 22 9qag, 2019 & fSafa=erg G2aEe ard dieswd A [ g i § dga-2 @rg 6ar 10|
WEHE T ey, W=t Ug Ua? g 9|

FYF - 11 : SAffeet a1 & giehar gar wem 5 100 km (62 AEd) & a1 g SO |

UG HIAl & F_H H A fau U faeedl d 9 g4ty Iugdd Sdl g

(A) &Y - | qor & - 11 S g8 & (B) @®u¥ - | dur wu= - 1 g1 TTed @
(C) wua-1wer & Ty &9 - 1l T (D) @9 -17ad & forg bu - 1 981 &
1 o ¥ 3F ue ufel (Rrodfea) T2 7 '
(A) sEEH (B) URRRE AEEaTHEe

(C) wifsaw g=iue (D) ity 3 @]

TR 9w Ry T ¥ qasaﬁmﬁnﬁm(maﬁr@%ﬁw(ﬁ)%ﬁahwaﬁm%mfm%
afwas (A) @ 9EiE § e @t "ga eifae AEn €A @ fradr s fafre wEiem W g % wg § e
mm%lﬂﬁﬁgaﬂmaﬂﬂmﬁﬂiﬁﬂ?ﬁm 3‘€rm~n|m|alrﬁrjqa§'{‘f2ﬁﬁlﬁﬂm
qifeu|
F9 (R) : a@ﬂﬁﬁmﬁmwﬁéﬁ%lwgﬁawﬁmﬁwﬁﬁ%u@ﬁﬂ%ﬁ
IUUSd HUAT b ded o, A
(A) (A) @ (R) ST 9&r &
(B) (A) @u1 (R) 2T @&
(C) (A) @@ & fog (R) Wl
(D) (A) @& 7&l & (R)

mﬁﬁaﬁﬁw%mﬁﬁ%ﬁﬁﬁﬁ%aﬁﬂ—ﬁruﬁwwﬁaﬁrﬁﬁr?
. o 2. 949eg @H ’

3. FUH W@ 4. 9 @E

A f¥u U BT @1 yEN dih HEl IAT gie ¢

(A) &Haa 1,23 (B) &ad 1l ain4 - (C) dohaa 2 3T 4 (D) aw 1, 2 3T 4

3M9%H T U YA B S A e o % g)d ¥ e A g e 9y i w7

i.  WIEHEE ofaT ofT AAfae § de €T &1 ITAT B & |

i, IWporiet o a7 § ac 9T @1 IUGRT BT ¥

iii. TAT HET ST TAT HSIIET W ac U B IUGT B E |

iv. offaea? e § 220 URH™T g1 el 39T B § |

v. fafo= gem & @ €e 98 awll G @ 5En g9 B

(A) Fad i, ii et iv  (B) aﬁﬂuaﬁuu (C) haw iii e iv (D) ohaw ii, iii, iv 3T v

ﬁﬁmﬂﬁwfﬁwaﬁﬁq
FA-1 ﬂaﬁuéﬂmﬁwﬁﬁﬁﬁ@éméﬁ%ﬁmﬁwﬁﬁaﬁmﬁwﬁﬁmﬁw

41
¥

31”

F - 11 gﬁﬂﬁﬂ&hﬁrﬁaﬂmmﬁrmﬁ%ﬁﬂﬂ%aﬁﬁ 1 febedl @1 ST YA 39 &F & Wial T HT B
mm-lll:wma&ﬁmﬁriﬁ%ﬁaﬁuéﬂﬂﬁa‘ml

-1V : 99919 &7 & AUfes yaadr &= (@rsl & fdedl @I Hife &7 S97ar |l & |
Eqﬁaﬁmuﬁﬁﬁﬁﬂ—@rﬂ'@r%?

(A) @wua-1 11 111 & IV (B) wua-1, 11, 3 111
(€) HuT-L, 11 3T IV (D) wmud - 11, 1T 3f IV
ﬁﬁ[ﬂiﬂﬂ“{ﬁﬂﬂa‘a"rﬁm

Fo- 1 - ﬁgﬁﬁﬁ?@,ﬁm{ﬁuﬁzﬁwﬁﬁwﬁaﬁﬁw%|

By - 1 : fed SR gitie Sl @ dud s § ufEfid s €
- FYF - 1T : fogd "X ud 99y 2Fi Uk 2 fHEid o s #d ¢ |
IUUEd BT U ¥ B9 gEl & 7

(A) muF-113Il  (B) wua-laicIlll (C) wua-1 e 1l (D)  wuw -1, 11 & 111
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Given below are two statements:

Statement - 1 : Chandrayaan-2 was launched on July 22, 2019, from Sriharikota by a
Geosynchronous Satellite Launch Vehicle Mark I1l. The spacecraft consisted of an
orbiter, a lander, and a rover.

Statement - 11 : The orbiter will circle the Moon in a polar orbit at a height of 100 km (62 miles).

In the light of the above statements, choose the most appropriate answer from the options given beiﬂw

(A) Both Statement - | and Statement - I are correct

(B) Both Statement - [ and Statement - Il are incorrect

(C) Statement - 1 is correct but Statement - 11 is incorrect

(D) Statement - | 1s incorrect but Statement - Il 1s correct

Which of the following is not a preservative? - B
(A) Dulcin (B) Potassium metabisulphite
(C) Sodium benzoate (D) Sorbic acid salts

Given below are two statements: one is labeled as Assertion (A) anﬂ the Dther is labeled as Reason (R)

Assertion (A) : Biogas contains large amounts of methane which can be used as a fuel for several
purposes. As it releases no smoke or resadue it shou]d be considered as a good and
safe source of energy.

Reason (R) : Biogas also cc:-ntams carbon d!ﬂ?ﬁldﬁ‘ and the hlghen content of carbon dioxide

In the light of the ah{}ve statements, ch{mse the most appmpnate answer from the Dptmns given below:

(A) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not the correct E‘i}ip]ﬂﬂatlﬂ]’] of (A)

(C) (A) 1s correct but (R) 1s not correct |

(D) (A) is not correct but (R) is carrect

Before the inception of the five-year plan m [ndia whlch of these plans were in existence?
. Bharat Plan 2. Sarvodaya Plan
3. Farmer Plan 4. Bombay Plan
Select the correct answer using the code gwen below
(A) 1,2and3 only (B) 1land4only . (C) 2and4only (D) 1,2 and 4 only

Which of the following is (are) true in reapecl; nf the electric current used at your home?
I.  Microwave Oven and television uses dc current
1. Refrigerator and ’W&éﬁmg machine uses ac current
1. Air cunier and air conditioner uses ac current

iv. Most of the devices use 220 ampere current

V. Magmludk of current passing ﬂir{}ugh different devices 1s same
(A) Only i I, 11 and \Y (B) OHIy i and i1 (C) Onlymiandiv (D) Only il i, v and v
Consider the ﬁ‘_‘r]imwng statements :
Statement-1  : The magnetic field lines emerge from the north pole and merge at the south pole
- of a bar magnet.
Statement - 11 :  The direction of magnetic field is taken to be the direction in which the north pole

- of a compass needle moves.
Statement - IIL ~ :  There is no field inside a bar magnet.
Statement - IV : The relative strength of the magnetic field is shown by the degree of closeness of
the field lines.
Which of thE 31303!& statement(s) is/are correct?
(A) Statements - I, II, Il and IV (B) Statements - 1, 11, and llI
(L} Statements - I, 1I and IV (D) Statements - 11, III and 1V

...:-

.NC{JI'ISldEI‘ the following statements :

~ Statement - 1 : An electric motor converts electrical energy into mechanical energy.

~ Statement - 11 : An electric generator converts mechanical energy into electrical energy.
~Statement - III  : Both electric motor and generator work on the same principle.

Which of the above statement(s) is/are correct?

(A) Statements - Il and IlI (B) Statements -1 and 1l
(C) Statements -1 and Il (D) Statements - 1, Il and 11l
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=1 Byl 9T faa #ifea

FA-1: 9 UG ACIIEES U WL § L qIEH Bl A AT HIAl &, 3900 daaid, Thadsl 9 i 9ol
t |

FoA - 11 : TS 91209 § g HIEgH @l AR G B0 G eSS 99 @ fhadsl @ siatad @l

FA - 1 : U HIegH § UL HISHH &l AT I Hid g9 AezEss a4 &) el 9 @ geadr & |

y= - IV : ‘Shimrsanmel’ fafeag MeM (medical dlﬂgﬂﬂﬂlﬂﬂ)ﬁﬂﬂﬁ@ﬁﬂﬁﬂﬂiﬁﬁ%%ﬁﬂﬁ
ATLETSE I 39T fpar wirar & |

IUUET YAl b W ¥ B9 GdeE 98 g 7 3 P

(A) wF-1 8T 1l (B) @mya-lair Il (C) &HuF-LARIV (D) @ -1l i IV

U AlRd gX DI g bl W @ J gAY ¥ Foy

FF-1: =ik egumogtmadfaz

FyA- 11 : 31 &9 & e/AiYe gehar (curvature) AT 3115 916 & @I‘Eﬁiﬁ’m (elnngatmn) aﬁ’r R R
g3 & Gahdl & |

&y - I : WW%W(CDHEME)@THEHWWWE?EQW ol t-!ctwil%l

........

mﬂamuﬁwﬁmﬂﬁaiﬂ—mwwsé?
(A) ®uF-leir Il (B) @w-1l eIV (C) @9 - |afrrw **{D} e - 11 e 111

ﬁwm@rﬁ@rﬁmﬁﬂﬁaﬁmﬁmﬁgﬂ?ﬁ%mﬁ'ﬁwﬁ %ﬁ

(ratification) &I TTGyTeHdr &l

& ?

A. gadl ogdr ¥ ®ig W gdr B. mjfﬁaas-ft agaﬁaﬁﬁaﬂ“{m—;@ﬁn

C. ==z VII AP trrélxam%ml K

el ®IS BT °gg DIy -

(A) A R B (B) Baw C )" CaﬁTD (D) D&t A

ﬁmﬁﬁaﬁ‘mmaﬁeaﬁm%ﬁméﬁﬁwﬁwﬁmﬁﬁwaﬁﬁamﬁﬁﬁmﬁa@ﬁ
ATl Hl BEY B § Uebhdl & 7 ;

(A) @rgEE 358 (B) 613?%33363 (C) area 366 (D) e EdE 368

T BT BT ﬁtﬁéiliﬁﬁmmﬁﬁﬁmﬂﬁxwﬁﬁwm&aﬁmﬁmﬁﬁﬁmw?
(A) W X1, &= 1l (B) qﬁXIlﬁQ‘{IV (C) e XIV, =1 (D) e XI, Fex |

WW%WWWW(ZUU?)WW—H%

(A) w@EE g o (B) wfgum &1 smanyd &g 9
(C) orgfaa &3 & 4 9 (D) TUled ¥ € BIg el
Brad ‘Al ﬁgﬁ?ﬂ@ﬁﬁmﬁ%wﬁﬁﬁzﬁm'ﬁ‘ﬁﬁmwmwﬁ (BFeT) 6 | BT T4 FeET feped
e -A T FaW - B
i ﬂrﬁﬁaﬁ‘r A. SEAIH
i, B. @=dE™ & i
iii. Taa“reﬁm C. wrm freaifya
iv.  EEE D. fafis fa-afts
(A) i-A, ii-B, iii-C, iv-D (B) i-B, ii-D, iii-A, iv-C
Q) i-B. ii-D, iii-C, iv-A (D) i-D, ii-C, iii-A, iv-B

- fefaftga O % g 9 9 feed afes O guifae € 7

(A) fawa g« eEifmn, AIDS, =9 fa=sm (B) AIDS, #Ueiizg B, &
(C) Emifpferan, eerefeq B, el sgs+y (D) fa&a g« aFityen, emifefaen, seq A=
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Consider the following statements :

Statement - | :  When an ultrasound travels from one medium to the other medium, its wavelength,
frequency and speed change.
Statement - 11 : The frequency of an ultrasound wave remains almost unchanged while travefhng

from one medium to the other medium.
Statement - I[I  : The frequency and speed of an ultrasound wave change when travelling from one
medium to the other medium.
Statement - IV : ‘Echocardiography’- a technique used in medical diagnostics, emplﬂ}*ﬂ ult’fasﬂund
Which of the following combination of above statements are true? -

(A) Statements -1 and 1l (B) Statements -1 and Il | __

(C) Statements - II and IV (D) Statements-Illand IV - - —

A person is not able to see distant objects clearly.

Statement - | : The person is suffering from Hypermetropia. . 4

Statement - 11 : The defect may have been caused due to emesswe curvature of the eye lens or

elongation of the eye ball. - 6
Statement - III. : The defect can be corrected by usmg a concave lens of suitable power.

Statement- IV : The defect can be corrected by usmg a convex lens of suitable POWET.

Which of the following combinations of above statements is correct?
(A) Statements - | and Il (B)  Statements - I and IV
(C) Statements - I and 1V (D) Statement - IT and III

Which of the following provisions require(s) ratiﬁffﬁfinn from not less than one-half of the states for an
amendment to the Constitution? n
A. Any of the lists in the Seventh Schedule B. Article 54, Article 55 and Article 73

C. Chapter VII - D. Chapter [ of part X
Choose the right code :
(A) Aand B (B) B and L (C) C and D (D) D and A

Which of the following Article bars the courts ﬁ'ﬂm mterf'erlng in disputes arising out of certain treaties
and agreements made by the Princely States before the commencement of the Constitution?

(A) Article 358 (3} Artu:le 363 . (C) Article 366 (D) Article 368

In which Part and Chapter ﬂf the C{}n&tjtutmn was the Right to Property inserted after being removed
from Part [11?

(A) Part XI, Chapter Il F v 4 - (B) Part XII, Chapter IV

(C) Part XIV, Ch&pter | (D) Part XI, Chapter 1

[ R Coelho Judgment (2{]0?) Df the %Llpreme Court deals with :

(A) Autonomous 1nst|tutlﬂn5 (B) Basic Structure of the Constitution
(C) Scheduled Areas (D) None of the above

Match the cell ﬂrg&ﬂel_l?' listed in Column -'A" with their function in Column - 'B' and select the correct
option.

Column-A Column - B
1. Golgi body A. Digestion
ii. Smooth endoplasmic reticulum B. Formation of lysosome
iii. Ribosome C. Protein Synthesis
iv. Lysosome D. Lipid Synthesis
Code ;
(A 1A, B, iii-C, iv-D (B) i-B, ii-D, iii-A, iv-C
_-;(C) i-B, 1i-D, iii-C, iv-A (D) i-D, ii-C, iii-A, iv-B

_:;:Whjch of the fﬂllnwmg group of diseases comprises genetic diseases?
“(A) Sickle cell anemia, AIDS, Down syndrome

(B) AIDS, Hepatitis B, Canr.:er
(C) Hemophilia, Hepatitis B, Colour blindness
(D) Sickle cell anemia, Hemophilia, Down syndrome
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ferfta <t fop gW @ fagem e 391 & w0 4 & &t 8, 98 § -
(A) TEEIYATEaE (B) hifvis ufds (C) g™ (D) fesw / e

B qHE 9T § Temm &1de & $a wiasradr
(A) 18¥ 19ufgerd  (B) 20®@ 25ufgsra  (C) 15¥ 16 ufasd (D) Suled § & &g -Tel

f:9999 &% <OF S%el ¥ g 99 e, 919 BwSi & Hial & q9E

(A) agEEdE T99 F U @ (B) ergHseia o9 & &9 &
(C) dagHsey ga1g 4 SHidw @l (D) STE%™ & Had &l
e & & Mieersq 6 & AR A fog Mg e A @ @@ fawer ghw
iil T-H%?&T W i\"'. N GRELE y .
BT : a7

(A) ad i, iii ST iv (B) &ae i oMY ii (C) %aalaﬁrm (D} mluaﬂrm
wwﬁﬁwﬁﬂmﬁmaﬁﬂﬁﬁqaﬁ%|aﬁ?022%ﬁwwmﬂaﬁﬁaﬁ%ﬁmmﬁﬁﬁaﬂ%ﬁméﬁ

% 9y Eﬁlﬁq
FTEAT

a) m:n 33 1) o o IEe o o

b) THUsI™ @HHT (WIUNIT) 2) wEgs

C) TS TRIELH 3) fagmm we Sfmld

d) = st 4) wrfec od e

e) | TSTCH (WUMNIid) - 5) e
Pt 3 ¥ 98 Rree 9T - g G Ny
(A) a-5, b4, c-1, d-2, e-3 (B), “ a5, b-1, ¢-2, d-3, e-4
(C) a-l, b-2, ¢-3, d-4, e-5 {Q) a-2, b-3, c-4, d-5, e-1
ol [ &1 e g 11 & 9 iy - |

Tl - 1 ﬂ?ﬁ II

a) . 49re »yd Hd 1) e &1 T

b) weHI ArEh 2) dlies W

c) WA BT o - 3) Te=y Wit Ud whifaerid

d) wqiueFEes duHs T eﬁ’ﬁ:r ﬁ) Sl & G iol & 3ugd (YEigy)
= A ouel faeed g@o-

(A) a1, b2, ¢:3, d4 (B) 2 blcz d-3 (C) a2, b-3. c4 d1 (D) a-3.b4,c-1,d>2

185?%%%@%3?&@%%@ AT & g A = a9 ¥ 9E § 0

|. ! ardfd A THEE IS O o | 2. fagt ® 9 7 9red ud Aidd are & g9 H ST |
3. @ gerrg # Asien % FEw 9 | 4. ﬁﬁmu&mqﬁwﬁ'ﬁaﬁﬁmﬁqaml
= o ¥ 9ol fased gia -

(A) aaal?afrm' (B) ®aw 2,334 (C) waw 1,34 (D) 1,2 334

Wﬁﬁﬂwﬁﬁ?@ﬁﬁaﬁﬁﬂiﬁmﬁmﬁﬁﬁﬁgmm g{h & 96 H9Ag &1 4 99 @l
eprateara Gy, el o 2020-2021 & 2023-2024 w % fw J9me TFwe TaeEd 9 Bl Wil Ya™
a?r%l ot
fer SyeT gX feamt @i -

1 ﬁﬁw¢wﬁlswﬁmﬁﬁmmﬁﬁmﬁiaﬂmmI4Eﬁ€aﬁ11'f’rﬁamw%|

2. TRyefaa 29 & 30-70% % faada wa & *oriee ToaeEed & AR wad 5-10% &

3. =g M9 E v Eelfaiinadet aEg weed g U9gue &% 9 SHA9H Bl yHIe e s |

4. Fyee Teihe TaaeIEed Y @1 drtaEd 3 <EY G fahitew % sita fear s

 orieE ¥ ¥ w8 @ R -

(A) &ad 1, 2 i 3 (B-') haa 2,3 @4 (C) &aa 1,384 (D) hawa 1,2 8T 4
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A vitamin that functions both as a hormone and a visual pigment?
(A) Riboftlavin (B) Folic acid (C) Thiamine (D) Retinal / Retinol

The total percentage of carbon present in our human body is
(A) 18 to 19 percent (B) 20 to 25 percent (C) 15 to 16 percent (D) None of the above

During expiration the air will leave the lungs when the pressure inside the lungs must become
(A) equal to the atmospheric pressure (B) lower than atmospheric pressure
(C) higher than atmospheric pressure (D) diaphragm must contract
Select the correct option from the codes given below about greenhouse gases from the following:
1. Methane 1. Nitrogen @, G
iii. Nitrous oxide iv. Water vapours .
Code :

(A) 1, 11 and iv only (B) 1 and 11 only (C) 1 and iii only (D) 1, 11 and iii only

The Padma Awards are given in various disciplines/field of .aﬂtif.'ify. Match the name of the Padma
Awardees of the year 2022 with their field of activities :-

Name Field
a) Prabha Atre 1)  Trade and Industry
b) Radheyshyam Khemka (Posthumous) 2) Bports £
¢) Natarajan Chandrasekaran _3) Science and Engineering
d) Devendra Jhajharia - 4) Literature and Education
e) Sanjaya Rajaram (Posthumous) S 8Y Art ¢
Choose the correct option from below :-
(A) a-5, b-4, c-1, d-2, e-3 - W (B)  as8:b-1,6-2, d-3, e-4
(C) a-1, b-2, ¢-3, d-4, e-5 - (D) -a-2, b-3. c-4, d-5, e-1
Match List I with List II :-
List 1 \ - List 11
a) Dr. Dhondo Keshav Karve - 1) Gandhi of Malkangiri
b) Laxman Nayak . 2) Old Gandhi
¢) Matangini Hazra . 3) Hindi Litterateur and Revolutionary
d) Satchidananda Hiranand Vatsyayan ‘Agyeya’ 4)  Pioneer of Women’s Empowerment

Choose the correct option from below:-
(A) a-1,b-2,c-3,d-4 “(B) a-4,9-1,¢-2,d-3 (C) a-2,b-3,c4,d-1 (D) a-3,b-4,c-1,d-2

Which of the following is / are true regarding Tatya Tope, a significant face of the Freedom Struggle of
18577 L N
|. His real name was Ramachandra Pandurang Rao.
2. In Bithur, he came in contact with Nana Saheb and Moropant Tambe.
3. He belonged to Yeola mm Maharashtra.
4. He led a rebellion in Madhya Pradesh and Rajasthan.
Choose the correct option from below:-
(A) 1,2 and 3 ‘?}%?_3[}’ ﬁn{B) 2,3and 4only (C) I.,3and4only (D) 1,2, 3 and 4

With a view to position India as a global leader in technical textiles, National Technical Textiles Mission
has been apprnﬁedff{}r creation with a four year implementation period from FY 2020-2021 to FY 2023-
2024 by the Ministry of Textiles, Government of India.
Consider the following statements:-
|. Technical Textiles products are divided into 14 broad categories depending upon their application
. Penetration level of technical textiles in India is at 5-10%, against 30-70% in advanced countries.

P
3. Promotion of innovation amongst young engineering/technology/ science standards and graduates

will be taken up by the Mission.

" 4. The National Technical Textiles Mission will be implemented through a 3-tier institutional

mechanism.
Choose the correct statements from the above :-
(A) 1,2and3only (B) 2. 3and4only (C) 1,3 and 4only (D) 1,2 and 4 only
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J9He =gl frad 3=ege (NDRI) & 9= & 77 97 fqar sty -
. Aye 28 fgd 37Eege @ g&sd 1923 ¥ deR o $URgd 3R2Iege A% UAMd gdes! U8 Safd
% T T g |

2. 1936 % 3§ Uifae Sud srege A fear |
3. 1955 ¥, seara Red gdw™ @@ 9T NDRI &1 IH1iaior g3 o1 |

YT H H |l HYF gy - |
(A) had 1 @t 2 (B) dhaw 2 X 3 (C) had | &t 3 (D) 1,233

eRamn % gl svaredl & ged ¥ e qv famm i -
. fHeE™ ggeia dA9aTg — oot foa 2. AR ggWid AYIOY — {drst faer
3. Todfear a=sia STHaRed — e e 4. Eﬁrﬁmaﬁﬁmmw q%awesﬁm

SUUSd H W Gél HYT B g DI -

(A) aw 1,233 (B) ®aw 1,2 3t 4 (C) wad 2, 3afr<4 (D) majaﬂn;
= @™ U Tqare Sy - "

1) %9 (FAME) gfear @ - Waﬂ@mﬁﬁm%ﬂ <

2) U uH & 9gd @i —  Sa-qd & Tal ¥ faera @ gedn &9 &g

3) fomar = Wﬁ%uwwfﬁmﬁaﬁ%ﬁwmﬁ%ﬁﬁmﬂﬁﬂw
4) WU HEl G G ~ W@ﬂmﬂﬁﬁgﬁﬁﬁﬂm

IS § ¥ BiF g gE e § -

(A) Had 1 &t 2 (B) wad 1.2 & 3 (C) asaaz 3aﬂ14 (D) 1,2,33aT 4

ﬁmuﬁeﬁﬁw%ﬁ(lpps)%ﬁmﬁﬁmﬁéaﬁaﬁmmw%?

. IPPB &' @mg=t 2016 ® & 11

2. w(Pmr)ﬁmﬂmﬁﬂﬁmowﬁajamaﬂlghafr%mam%rﬁ%@mawﬁ?mlppﬂaﬁﬁvﬁa
TRdT 4T |

3. ﬁemﬁ%ﬁ&m%ﬂmmmmw%ﬁﬁﬁﬁﬁmaﬁﬁ%aﬁmmm%mﬁﬁwm
T g9l T @ e Bl

4, IPPBammmaﬁ’rﬂé@m@fﬁﬂaﬁ@W%ﬁm fsfirew W wifthehe, SMETs 991 BT GHI=
4

(A) Haa 1, 2 3T 3 ( had 2, 36?[(4 (C) &Haa 1,24 (D) wawa 1,3 AR 4

Fﬂmﬁ@raﬁ?ﬁmmm%? .

L. ﬁaﬁaﬁWﬁﬁ@ﬂﬁﬁﬁ%&ﬁ(@ﬂﬁ)%ﬂ%ﬁhﬁﬁﬁm%?ﬁ%ﬁwﬁ%mﬁﬁ%ﬂﬁhwﬁﬂm
& sl

2. aﬁmﬁawﬁsmﬁﬂ‘rﬂtaﬁﬂéﬁm TE 99 &l 399 =92iTs e, 1920 & uiid &9 &
qyar eeis fear

3. ﬁmaﬁﬁﬁsmm?ﬁaﬂgﬁaﬁquﬂ%ﬂwﬁwm%ﬁmzmsﬁCBFc%ra:wefmmﬁqﬁﬁ
‘e-cinepramaan’ GlGE T

4. i @ sifg A qemel 399 8t safadl @ gema s &) wEell T & gel @ e g &}
&1 O @ oty % fwu i fear s #)

(A) wHad | @R 2 (B) haw 2 3R 3 (C) haw 3 &R 4 (D) @aw 1 &R 4

e Tﬂ%i’[*r’rammHw:{u?naméﬁ(lGNCA)%ﬁmﬁﬁﬁﬁrﬁﬁaﬁﬁﬁrmmHﬁ%?

1. IGNCA, €%pld 431ed & AL WG G g WIiyd Uh @Ed 9 |

2. meﬁwm%ﬁﬂmaﬁ%ﬁmﬁuﬁmm@wﬁwwmﬁm
%&]T !

r 3 za% §s (Mandate) % &7 ¥, 3¢ diee 2R Ud GEzq T A9HA T F9MFT q41 TRTRREES 9T A9

AR I B

C 4 3w P R Aafered ¥ frg 7 e T ¥
(A) &ad 1,233 (B) &A@ 2,334 (C) waa 1.3 34 (D) &Haa 1,23 4
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83  Consider the following regarding the National Dairy Research Institute (NDRI) :-
1. The National Dairy Research Institute started as Imperial Institute of Animal Husbandry and
Dairying in 1923 in Bangalore.
2. In 1936, it was renamed as Imperial Dairy Institute.
3. NDRI shifted to its present site in Karnal in 1955.
Choose the correct statements from the above:-
(A) 1 and 2 only (B) 2 and 3 only (C) 1 and 3 only (D) 1l,2and 3

84  Consider the following regarding Wildlife Sanctuaries of Haryana :-
|.  Bhindawas Wildlife Sanctuary — Jhajjar district o o
2. Nahar Wildlife Sanctuary — Rewari district
3. Chhilchhila Wildlife Sanctuary — Kurukshetra district
4. Bir Shikargah Wildlife Sanctuary — Mahendragarh district
Choose the correct statements from the above :- 4
(A) 1,2and 3 only (B) 1,2 and 4 only (C) 2,:;*.3 a’ﬂd 4 ﬂnly (D) 1, 3 and 4 only

85  Consider the following matches :- . N £
1) FAME India Scheme — To promote enwmument fn@ndlv vehicles

2) PM Vikas Pahal Scheme - To pmmme develmﬁment in the villages of North East
3) Nishtha — National initiative for holistic progress of school heads

and teachers.
4) Pradhan Mantri Saubhagya Yojana - nght to Electnmty tt:- the poor and deprived.
Which of the above are correct matches? = i
(A) 1 and 2 only (B) 1,2and 3 only (C) 2, 33nd 4only (D) 1.2,3and4

86  Which of the following statements are true about the India Post Payments Bank (IPPB)?
1. IPPB was set up in 2016.
2. IPPB got incorporated as a Puﬁl:c Limited Cﬂrﬁpany with 100 percent GOI equity under Department
of Posts. 9y T
3. Post Oﬁ"’ce ‘Sawngs Bdnk prt}clucts pnmarlly ﬁ:}cus on encouraging digital payments and remittance
4. Services launched by IPPB include LEﬁ: and General Insurance, Digital Life Certificate, Domestic

Money Transfer.
(A) 1, 2 and 3 Gnl}f (B) 2 3 and 4 only (C) 1,2and 4only (D) 1,3 and 4 only

87  Which of the tﬂllﬂwmg statements are incorrect?

I.  Central Board of Film Cerﬂf' cation (CBFC) is a statutory body regulating the public exhibition of
films. i,

2. The film “Raja Hamhchandra produced by Dadasaheb Phalke was released after the passing of
the Indian Cinematograph Act, 1920.

3. CBFC launcl;@d its online portal ‘e-cinepramaan’ in 2015 to modernize and digitize film certification
process.

4. The Advtsm‘y Panels which assist the regional offices of CBFC in examination of film comprise

of members who have been nominated by the Central Govt. for a period of two years.
(A) l and 2 only (B) 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only

88  Which gf the following statements are true about Indira Gandhi National Centre for the Arts (IGNCA)?
1. IGNCA is an autonomous trust set up by the Government of India under the Ministry of Culture.
2. It has started post-graduate diploma courses to train manpower in the specialized field of heritage
. conservation and management.
3. As a part of its mandate, it has to prepare the National Register on Built Heritage and Sites and
the National Register on Antiquities.

4. It is the nodal agency for the National Mission for Manuscripts.
(A) 1,2and3 only (B) 2.3and4only (C) 1,3 and4only (D) 1,2 and 4 only
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T 1 T 11
A. HIFEE AEEEA EHE 3Els (1)  F-gMERiE EHed o slaiad 29 UThHE HIT Tl
giard<r &l fear sran €1
B. Zvmam™ 3drs (ii) ﬁgw%ﬁqﬁﬁaéﬁammmeﬁm@éﬂﬁwﬁ%q

M0 IETEM @l Ugd &l &
C. WMl A HATH AT 2! (lul)wmﬁ%ﬁﬁww%fﬁ#ﬁﬁrﬁ%ﬂ%@ﬁﬁ

m@mw&ﬁﬁaﬁmﬁmaﬁ@mmmﬁmﬁww

Yl i &g % §HY ST
D. UER @ Wided g (w)ﬁﬂﬁﬂﬁﬁﬂ?ﬂ%ﬂtﬂﬁ%m%ﬁﬁﬁmﬁ_@ﬁﬁm@éﬁ
ﬂﬁwq%m%amﬁﬁﬁq@w%ﬁmﬁﬁq&r%aﬁwﬁ
WrEg &% yHIgE ¥ dFeE W @n ¥
(A) A-(iv), B-(iii), C-(i), D-(ii) (B) A-(iii), B-(iv). C-(ii), D-(1)
(C)  A<(ii), B-(i), C(iii), D=(iv) (D) A<(i). B(ii). C(iv). Diii)

M ¥ 9 &9 9 99 98 & 7 " '

1. 1970 % shcmn sa wfasa amon fergfasn HﬂTﬁa fh{'1 e %&I EFI nﬂm g &4 |

2. wieEmm H 391 @1 |yel FuT e & |

3. e & A e A Rrae Ao B weg ReErl @ A ure S gud el Gad 9) & O @
mﬂ&ﬂmmwaﬁmﬁzﬁmwﬁﬂﬁam%yﬁ

4. W TG-S T % Sfetd wfEmn § 5000 # et @l w24 6 fawe sngfd ya A ¥

(A) &aw 1,283 (B) e 2, 33?414 (C) %Haw 1,334 (D) Haw 1,2 a@ix 4

qézﬂzzﬁﬁméaﬁmgi%m#ﬁi?ﬁwéﬁmmzﬁfaﬁmﬂﬁ%|mﬁmaﬁu=ﬁu'{ﬁ:m1'<zﬁrﬁ‘ﬂq

| e S g M TR s

2. Y0 2 A qEad ¥ 99 U oF @ A gedr & |

3. U ¥ %2l § IEN %I HUETAT ¥ ITd & UL HOT Hdr § |

4 aﬁmwﬁmaqﬁémaﬂ%%%q mawﬁ%%%q%aﬁaﬁm%ﬂw%gﬂmﬁmzﬁr
%1 Ial © |

ﬁ%hmﬁgmmmﬂﬁ%mﬁﬁwaﬁﬁm

(A) Haa 1 a2  (B) &aw 2 8 3 (C) aw 3 X 4 (D) aw 1 oY 4

shamm % T5e 2022-23 ¥ ddfta e ox famm i |

|. g =1 & FRBM e & dea 159 faa omdm gra fraifa @ & @mn @ & o

2 nmﬁuuﬁﬁrzﬂzzzﬂaBEﬁGSDszesu%amu“r@mzﬁﬁmw%|

3. ﬁéﬁﬁuaﬁZ{)zIZﬁREéa%lqaiﬂ?ﬁGSDPaﬁmﬁ 25 yfagd € A & |

4, 47 HrpEr S9rg SE $l HiT Bl S Bl 29 Sodig Wi % el gufeha femar war ¥
IUUST H W B H AT GEl & 7

(A) wad 1 8§ 2 (B) @had 2 & 3 (C) haw 3 3T 4 (D) haw | 3T 4

TGS HITG YA 79 SR e (AB-PMJAY) 291 § &1 S6Hl &l 1 9 989 &1 arg & Ha
9o BT & | Ao b favm F fre ¥ @ @ wd ¥ 0

1. 297 ¥ i 9 WEdz geieg et & oiarid aosd 9 R Fax eifaearsae™ % fg AB-PMIAY
- gfa 7 gy sfar &9 @@ v q@ @1 wat gear sad &

2. g% 991 % f9g WX @il % foe gerd deterd Ud Uied ©

3. yum e ® & qd  faera sreranali @1 wa¥ fmar A
4

. OIS & Y gL <9 § diead T 8 |
(A) wad 1 X 2 (B) hawd 2 3T 3 (C) had 3 3T 4 (D) aw 1 3 4
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89 Match List | with List II :-

List 1 List 11
A. Dhyan Chand Award for Lifetime (1)  Given to the overall top performing
Achievement university in the inter-university tournaments
B. Dronacharya Award (1) Recognizes contribution made to sports

development by entities other than sportspersons
and coaches. .

C. Maulana Abul Kalam Azad Trophy (111) Honours eminent coaches who have succesﬁfuily
trained sportspersons and teams and enabled
them to achieve ﬂutstandmg resulta in
international competitions

D. Rashtriya Khel Protsahan Puraskar (iv) Honours those sportspersons who have
contributed to sports by their performance and
continue to contribute to pmmmmn of sports
even after retirement from active sporting career.

(A) A-(iv), B-(ii1), C-(1), D-(i1) (B) A—(m) B-(iv), C-(i1). D-(1)
(C) A-(i1), B-(1), C-(111), D-(iv) (D) A-(i). B- (u)_ Cv—(nf} D-(iii)
90  Which of following statements are true? |
I. Haryana was the first state in the country to achlﬁw hundred percent rural electrification in 1970
itself.

2. Haryana is the sole holder of the country’s rock salt resources.
3. “Mera Pani Meri Virasat” scheme of Haryana aims to Shlft farmer’s focus from growing water
consuming crop like paddy to other less water requlrmg crops.
4. Under “Mahara Gaon-Jagmag Gaon”, more than 5{}0& villages in Haryana have been provided with
24 hour power supply.
(A) 1,2and 3 only (B) 2, 3 and 4 Dnly (C") 1 3and 4 only (D) 1.2 and 4 only

91 Reserve Bank of India raised the repﬂ rate by 40 basm pmnlﬂ; in May 2022. Now consider the following
statements: v
1. Repo rates are mcreased tﬂ control mﬂatmn

S

With increase in repo rates, cost of borrowing money increases.

2.
3. With reduction in repo rates, Industry gets loans at higher rates from the lender.
4. To decrease mﬂney 511pply in tha economy, the RBI hikes up repo rates to encourage banks for
borrowing funds. .
Select the correct statements using the code given below :
(A) 1 and 7 ﬂnly (B) 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only

92  Consider the ﬁ}liﬂwmg ﬁ‘mn Haryanas Budget 2022-23.
1. Revenue deficit has been brought within the limits prescribed by 15" Finance Commission under
the FRBM Act
2. Fiscal deficit has been projected at 2.98 per cent of GSDP in BE of 2022-23.
3. Debt to GSDP ratio is below 25 per cent for Fiscal Year 2021-22 RE.
4. 47 existing budgetary demands for grants have been consolidated into 29 budgetary demands for
grants.
Which of the above statements are correct ?
(A) l__.andnz only (B) 2 and 3 only (C) 3 and 4 only (D) 1 and 4 only

93  Ayushman Bharat Pradhan Mantri Jan Aarogya Yojna(AB-PMJAY) provides accessible and affordable

) heaﬁh care to the common man in the country. Which of the following are correct about the scheme ?
1. AB-PMIAY provides a cover upto Rs. three lakhs per family per year, for secondary and tertiary
care hospitalization across the public and private E:mpanﬂ]ed hospitals in the country.
2. It provides cashless and paper less access to services for the beneficiary at the point of service.
3. Pre existing conditions are covered from day one.
4. Benefits of the scheme are not portable across the country.
(A) 1 and 2 only (B) 2 and 3 only (C) 3 and 4 only (D) I and 4 only
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el H COP 26 § W & Sy Uiteds & efaiad deie (nectar) dwi &l Yaisrd fear o

2030 9% 1000 GW I-Sirengd Feil Hutdel do gd |

2030 9% 9T HoAl FEdl bl 50 gfda9rd Tdre iy Hul g |

HqT H 2030 T I i (projected) HET Il H U foferas 2 & Herdr |

2005 &% T U Afeaen & Hred fagar ¥ 2030 d& 45 ufayrd & s |

2090 d% 92 WU IS Dl @ed W HeAT |

ﬁm%@riﬁmém——raﬁ% ?
(A) &aw 1,233 (B) &Haw 2,334 (C) wHaa 3,435 (D) Haw |, af-;aﬂfs

CIEG| Eﬁr $4[}[} faferas &1 foatg gfg o wids@ arEE ael 29 dF SIS (cnmmﬂdltlesf) %“ﬁ
3. W Uq Sl 4, €« @@ v
(A) Haw 1,24 (B) &Haw 1,334 (C) WIZG?RB (D} WZJ@T4

a%&wmﬁﬂﬁm%aﬁw%m%%aﬁﬁm%mmﬁmmﬁﬁaﬁwﬁm
ﬁﬁaiﬁrﬁméﬁmﬂgﬂnmw%IEﬁHéﬁWﬁﬁﬁﬁrEﬁﬁﬂ’ﬁEﬁﬁm{ﬁEﬁﬁé%

l. 9% 6 AfEAl &1 9™ | BhHT & |

2. uﬂrgaﬁaﬁﬂwﬁmmmﬁwqﬁrwﬁmm%l

3. omf=ald 999 & 3, q&rgaﬁﬁraﬁéﬁe@aqﬁﬁmmﬁl

(A) wad 1 K 2 (B) had 2 ﬁC) %aaS (D) dhaw 2 &K 3

e ol § § B9 § T 7

1. W%Hﬁ%ﬁﬁéﬂﬁﬁ‘fﬁﬁﬁmgﬁﬁmw& it el @ darell & S gl @l
S8 GDPyp & 3 |

2. 37z fedr <91 &1 GDP 9 W@ &, Wwﬁmmﬁqﬁgmswﬁ%l

3. e GDP & et GDP @1 srgard GDP srehifcss (Deflator) weemar & |

4. frae GDP & e GDP @t surd GDP sra@itas (Deflator) @earar & 1

(A) %a@ 1,283 (B) &ad 2,3 aix4 (C) o&aw 1,334 (D) aw 1,2 84

fswiafaa 2022 & §<4 A 9 4 ¥ S | T & ¢

| 39 hlERF™ St ge, gSid H ST fhar o |
2. 3 1 oW & 15 oW 2022 qe e fear T ar |
3. wndw uafid A g 16 wEE S o |

4, gﬁﬁ&%’fﬂ%@ﬁﬁrﬁﬁﬁwﬁmml

e

(A) Fawil (B) % 2 (C) ad 3 (D) hae 3 T 4
W@h&ﬂﬁﬁﬂ%ﬂﬁ%ﬁﬂ%%%%@aﬁzﬁ@wﬁﬂﬁrw% ?
1. e : Eﬁﬂw 2. WHEWS @ SAIfsem
3. T ;i 4, ddnre SR ggadl : TEU 9 T E@! I H A9
(A) wad | 0 (B) %ad 2 (C) dhad 3 (D) o 4
100 T 1§ R o eR e o e g 1A o oraRafy & @i -
gl & 1
A. S qaf’r HIIATIY (i) Byu
B. ®FERY (ii)  efemom
C. ™ & 3w afE (iii) %Y@
 D. uremasiE Ad (iv) T W=
B fizreny gasia s (v) W&
(A)  A-(iv), B-(i), C-(v), D-(iii), E-(ii) (B)  A<(iii), B-(i), C~(iv), D~(v), E-(ii)
(C)  A-(ii1), B-(1), C-(v), D-(iv), E-(i1) (D) A-(1), B-(v), C-(ii1), D-(iv), E-(i1)
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94 India presented the following nectar elements of India’s climate change at COP 26. in Glasgow:
1. Reach 1000 GW Non-fossil energy capacity by 2030.
2. 50 per cent of its energy requirements from renewable energy by 2030.
3. Reduction of total projected carbon emmissions by one billion tonnes from now to 2030.
4. Reduction of the carbon intensity of the economy by 45 per cent by 2030, over 2005 Ievels
5. Achieving the target of net zero emissions by 2090. .

Which of the following are correct statements ? 5
(A) 1,2and3only (B) 2,3and4only (C) 3,4and Sonly (D) 1,4 and 5 Dt}l}{

.....

95  Top three commodities by percentage contribution in India’s export growth of $400bn are:-
. Engineering goods 2. Petroleum products

3. Gems and Jewellery 4. Rice | |
(A) 1,2andd4only (B) 1,3and4only (C) 1,2and 3 only (D) 2,3 and 4 only

96  The National Apprenticeship Training Scheme is a programme equipping technically qualified youth with
practical knowledge and skills required in their field of work. Which of the following statements are
correct about the Scheme? y

1. It is a 6 months programme. -
2. The Apprentices are imparted training by the mrgamzalmns at their place of work.
3.  During the period of Apprenticeship, the Apprentices are not paid any stipend.
(A) 1 and 2 only (B) 2 only (€ 3only b (D) 2 and 3 only

97  Which of the ﬁ::ilnwmg statements are true ? -
1. GDPyyp is the market value of all fma] G::u::ds and Services produced within the geographical
boundary of a country in a year.

2. If the GDP of a country is rising, the welfare may not rise as a consequence.
3. The ratio of nominal GDP to Real GDP is called GDP Deflator.
4

. The ratio of real GDP. to nominal GDP is called GDP Deflator.
(A) 1,2 and 3 only (B} 2,3 and 4 Dﬁ]y (C) 1,3and4only (D) 1.2 and 4 only

98  Which of the ﬁ:}llnwmg is mmrreLf regardm;, the Deaflympics, 20227

I. It was held in Caxias Do Sul, Brazil. 2. It was held from 15t April to 151 April, 2022.
3. Indian ag!‘;_}ﬁt_gs_wﬂn a total of 16 medals. 4. Sumit Dahiya won a gold medal in wrestling.
(A) 1 Dﬂ[}’ h {B) 2 only (C) 3 only (D) 3 and 4 only

99  Which of the Ek Bharat Sb,restha Bharat Engagement Matrix between States and U'ls 1s incorrect?

. Gujarat : thattlsgarh
2. Mabharashtra : Odisha

3. Goa : Karnataka
4. Chandigarh and Puducherry : Dadra and Nagar Haveli and Daman and Diu

(A) 1 ml[y (B) 2 only (C) 3 only (D) 4 only
100 Match tl]e B.amsar Sites in List I with their locations in List II :-
List I List 11
A. Nawabganj Bird Sanctuary (i)  Tripura
- B. Rudrasagar Lake (11) Haryana
3 C. Tso Kar Lake Complex (i11) Kerala
- D. Sasthamkotta Lake (iv) Uttar Pradesh
E. Bhindawas Wildlife Sanctuary (v) Ladakh
(A) A-(iv), B-(1), C-(v), D-(111), E-(11) (B) A-(in), B-(1), C-(iv), D-(v), E-(i1)
(C)  A-(iii). B-(1), C-(v), D-(iv), E-(i1) (D)  A-(1), B-(v), C-(111), D-(iv), E-(11)
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